



# Relationship Between COVID-19 Related Knowledge and Anxiety Among University Students: Exploring the Moderating Roles of School Climate and Coping Strategies

Frank Quansah<sup>1</sup>, John E. Hagan Jr.<sup>2,3\*</sup>, Francis Ankomah<sup>4,5</sup>, Medina Srem-Sai<sup>6</sup>, James B. Frimpong<sup>2</sup>, Francis Sambah<sup>2</sup> and Thomas Schack<sup>3</sup>

<sup>1</sup> Department of Educational Foundations, University of Education, Winneba, Ghana, <sup>2</sup> Department of Health, Physical Education and Recreation, University of Cape Coast, Cape Coast, Ghana, <sup>3</sup> Neurocognition and Action-Biomechanics-Research Group, Faculty of Psychology and Sports Science, Bielefeld University, Bielefeld, Germany, <sup>4</sup> Department of Education and Psychology, University of Cape Coast, Cape Coast, Ghana, <sup>5</sup> Department of Education, Asokore-Koforidua, Ghana, <sup>6</sup> Department of Health, Physical Education, Recreation and Sports, University of Education, Winneba, Ghana

**OPEN ACCESS** 

#### Edited by:

Efrat Neter, Ruppin Academic Center, Israel

## Reviewed by:

Kun-Shan Wu, Tamkang University, Taiwan Tuyen Van Duong, Taipei Medical University, Taiwan

> \***Correspondence:** John E. Hagan Jr. elvis.hagan@ucc.edu.gh

#### Specialty section:

This article was submitted to Health Psychology, a section of the journal Frontiers in Psychology

Received: 23 November 2021 Accepted: 17 February 2022 Published: 30 March 2022

#### Citation:

Quansah F, Hagan JE Jr, Ankomah F, Srem-Sai M, Frimpong JB, Sambah F and Schack T (2022) Relationship Between COVID-19 Related Knowledge and Anxiety Among University Students: Exploring the Moderating Roles of School Climate and Coping Strategies. Front. Psychol. 13:820288. doi: 10.3389/fpsyg.2022.820288 The emergence of the COVID-19 pandemic resulted in abrupt disruptions in teaching and learning activities in higher education, with students from diverse programs suffering varying levels of anxieties. The physical education field happens to be one of the most affected academic areas due to its experiential content as a medium of instruction. In this study, we investigated the roles of school climate and coping strategies in the relationship between COVID-19 related knowledge and anxiety. Through the census approach, a cross-sectional sample of 760 students was administered a questionnaire in two universities offering Physical Education in Ghana: the University of Education, Winneba, and University of Cape Coast. The outcome of the study found a positive and significant link between COVID-19 knowledge and anxiety. Further, school climate and coping strategies significantly moderated the relationship between students' COVID-19 knowledge and associated anxiety. The findings have implications for creating a conducive school environment that reduces the risk of COVID-19 infection and through students' adoption of active coping strategies in an attempt to reduce psychological distress associated with COVID-19 anxiety.

Keywords: anxiety, coping strategies, COVID-19 pandemic, Ghana, knowledge, school climate

# INTRODUCTION

The coronavirus (COVID-19) pandemic has caused significant public health concerns and altered peoples' behaviors. The pandemic impacted variedly on human behavior, emotions, and cognition, eliciting diverse behavioral and psychological responses linked to the disease that have caused mental health-related issues across many societies (Alsukah et al., 2020; Clay and Parker, 2020; Lee and You, 2020; Lei et al., 2020). These manifestations of the pandemic have caused feelings

of anxiety in many spheres of daily life, including health, work, school, and relationships (Germani et al., 2020a,b; Gong et al., 2020). Previous research has shown the negative effect of anxiety on mental health and psychological well-being (Huang and Zhao, 2020; Ornell et al., 2020; Torales et al., 2020). The low predictability of COVID-19 consequences may affect people's mental health, due to their inability to adequately handle their current situation, especially on matters related to anxiety management (Jeong et al., 2016; Cao et al., 2020; Li et al., 2020a,b,c; Wang et al., 2020). According to Shigemura et al. (2020), fear and insecurity increase anxiety levels in healthy individuals and build up related pre-existing symptoms.

Given the devastating COVID-19 effects worldwide, having knowledge and complying with the virus' preventive and management protocols might be key toward lessening the psychological burden associated with the pandemic (Wang et al., 2021). Empirical evidence has already shown that during public health crises, adequate knowledge during an epidemic or diseaserelated literacy of people in any given population plays a central role in the adoption of preventive behaviors among the general population and eventually alleviate mental health challenges (Brug et al., 2004; Sadique et al., 2007; Yıldırım et al., 2020). For example, knowledge has been shown to be associated with actual knowledge (Flynn and Goldsmith, 1999; Krawczyk et al., 2013), psychological distress (Wang et al., 2020; Wolf et al., 2020), boost confidence in a person's knowledge, which in turn, triggers more information search, adoption of preventative behaviors, and promotes decision-making process during disease outbreak (Park et al., 1988; Krawczyk et al., 2013). Other studies have also shown that knowledge can help change unfavorable attitudes and behaviors, thus, may successfully curb infectious diseases and epidemics (Verelst et al., 2016). Recent research has implied that a lack of knowledge about the COVID-19 pandemic and insufficient preventive behaviors, impacted the general mental health (Yildirim and Güler, 2020), and heightened anxiety experiences among several individuals (Du et al., 2020; Wang et al., 2020; Zhai and Du, 2020).

The school climate is one environment that has significantly been wrecked by the nature of the pandemic globally through interruptions in academic work by schools' closure and/cancelation of academic-related activities due to stringent precautionary restrictions (e.g., physical or social distancing measures) (Mandapat and Farin, 2021). School climate, in the context of this research, reflects the extent to which students are confident and perceive the teaching and learning environment to be safe from COVID-19 infection. Research works have established the link between school climate and psychological variables such as anxiety and stress (Germani et al., 2020b; Lin et al., 2020; Li and Lyu, 2021; Šrol et al., 2021; Quansah et al., 2022). Šrol et al. (2021), for example, found in their study that students experienced heightened levels of anxiety when they do not trust that their institution can provide a safe learning environment for them during the COVID-19 pandemic. Lin et al. (2020) also found that persons who perceived their environment as safe and less susceptible to contracting COVID-19, experienced low levels of anxiety. This situation creates an enormous burden on parents, students, educators, educational

institutions, and governments to safeguard the continuance of learning and at the same time protect them from contracting the virus (UNESCO, 2020; Laar et al., 2021).

While facing these unprecedented emergencies and institutions striving to enhance the safety of the school environment (i.e., positive school climate), students could rely on their personal resources to cope with events they may perceive as challenging or threatening (Peters and McEwen, 2015; Peters et al., 2017; Alsukah et al., 2020). Prior research has shown that coping strategies of persons are related to their level of anxiety and stress (see Main et al., 2011; Lyons et al., 2016; Iddi et al., 2021; Li et al., 2021). Li et al. (2021) discovered that students who adopted coping strategies which focused their attention on solving the problem experienced lower levels of psychological distress. Iddi et al. (2021) also revealed that individuals who were concerned about their safety amidst COVID-19 coped very well. Other studies have also shown that religious coping was associated with COVID-19 related anxiety (Chow et al., 2021; Yıldırım et al., 2021; Zarrouq et al., 2021). From the psychological resilience theory perspective, individuals can successfully cope with events perceived as stressful and preserve their psychological function even in adversity, because internal and external protective strategies can help ease the negative impact of these challenging events (Main et al., 2011; Luthar et al., 2015; Lyons et al., 2016).

In the context of higher education, several universities across the world postponed or canceled campus-related activities (e.g., suspension of onsite teaching, cancelation of examinations). Consequently, teaching and learning processes had to adapt to the new reality and still offer services that promote students' educational aspirations, academic engagement and achievement, while minimizing dropouts (Capone et al., 2020). This unanticipated emergency and the unparalleled severe precautionary measures remarkably placed everyone involved in the educational system at risk in terms of mental health and psychosocial functioning (Owen et al., 2018; Capone et al., 2020). For example, a university's organizational structure related to intermittent changes in examination schedules, due dates of specific tasks, and projects as well as cancelation of lessons have been found to elicit anxiety-related challenges among students (Mancini et al., 1983; Pfeiffer, 2001). Hence, it is reasonable to anticipate that COVID-19 related emergencies and associated mitigation strategies may generate anxiety and other mental health challenges on students' overall well-being (Alsukah et al., 2020; Capone et al., 2020; UNESCO, 2020; Laar et al., 2021; Wang et al., 2021). Besides, investigating university students in the Physical Education field whose academic program has been one of the most affected subjects during the pandemic is necessary because of its experiential content as a medium of instruction has curriculum implications (Lander et al., 2017). Students in this program are required to engage in practical lessons which becomes a challenge, and thus, the need for institutions to develop new strategies that allow the practical sessions to hold but in a safe and protected manner (Chaliès et al., 2008; Nash, 2010; Hume and Berry, 2013; Chen et al., 2020; Isidori, 2020; Medina and Bohórquez, 2020). But this instructional delivery mode raises several questions regarding the safety of the students from contracting the virus and their anxiety responses to such situations.

In contemporary times, research connecting students' COVID-19 related knowledge with anxiety-related experiences using school climate and coping strategies as proxies toward active adaptation to maintain optimal psychological health in times of emergency is of great relevance. Although several studies have established the link between COVID-19 related knowledge and associated anxiety response, the findings are inconclusive. Whereas some studies have revealed negative relationship (see Du et al., 2020; Wang et al., 2020; Zhai and Du, 2020), others have found a positive relationship (see Wolf et al., 2020) as well as no relationship (see Lin et al., 2020). This inconsistency is primarily so because other variables such as school climate and coping strategies have the potency to distort the relationship (see Germani et al., 2020b; Lin et al., 2020; Iddi et al., 2021; Li and Lyu, 2021; Li et al., 2021; Šrol et al., 2021). Besides, no study till date has explicitly tested these moderation effects and concurrently measured these research variables in one research design. Up until now, research linking students' COVID-19 knowledge with anxiety-related experiences while moderating the school climate and coping strategies in Ghana is uncharted. The assumption is that school climate and coping strategies could be significant moderators of the relationship between COVID-19 knowledge and anxiety. Conducting this investigation is significant because it would provide a better insight to address students' knowledge gaps relating to the disease, thus helping in the control of the ongoing pandemic. Findings would also help guide interventions aimed at protecting students' mental health and overall wellbeing during this unprecedented era. The rationale of this study was to investigate Physical Education students within the context of the COVID-19 pandemic, with the following specific objectives:

- 1. Examine the influence of COVID-19 related knowledge on anxiety response.
- 2. Moderate school climate in the link between COVID-19 knowledge and related anxiety.
- 3. Moderate coping strategies in the link between COVID-19 knowledge and related anxiety.

#### MATERIALS AND METHODS

#### **Participants' Selection**

The target population was 1,003 Physical Education students; 906 from the University of Education, Winneba (UEW) (90.3%) and 97 from the University of Cape Coast (UCC) (9.7%) in Ghana. These two public universities were used because they are the only universities offering the conventional Physical Education program in Ghana spanning over three decades. The census approach was used to target all the respondents (i.e., students) in the population. Employing the descriptive cross-sectional survey design, a total of 760 Physical Education students participated in the present study from the two selected public Universities from the Department of Health, Physical Education, Recreation and Sports (HPERS) of UEW and the Department of Health,

Physical Education and Recreation (HPER), UCC. Out of the total sample, 86.1% (n = 668) of the participants were recruited from UEW, whilst 12.1% (n = 92) were recruited from UCC. These students were all regular Physical Education students without any specialization in the above-mentioned universities.

The sample size comprised 67.1% Christians (n = 510), 26.6% Muslims (n = 202), 5.5% traditionalists (n = 42) and 6 atheists (0.80%). The males constituted about 74.5% (n = 566) of the sample and 26.5% represented females (n = 194). About 35.3% (n = 268) were within the age ranges between 20 and 24 years, 16.3% (n = 124) fell within the age category of 25 and 29 years. Two hundred and forty-six participants representing 32.4% were between 30 and 34 years whilst 3.4% (n = 26) and 12.6% (n = 96) were in the age categories of 35–39, and 40 years and above respectively. The original number of participants expected was 1,003; however, 106 of the responses were not valid (non-response for over 70% of the items) whereas 137 of the participants either dropped out or opted not to be part of the study. The overall response rate was 75.8%.

#### Study Variables Outcome Variable

COVID-19 related anxiety was the outcome variable for this study. The variable was conceptualized as the extent to which students have been bothered with the issue of COVID-19 during the past month, including the day of the data collection exercise. A scale point ranging from 0 to 3 was adopted as a response option, with 0 being "not at all," 1 representing "somewhat," 2 being "moderate," and 3 representing "very much so." The scale was a six-item unidimensional instrument. The items include: "I feel unsteady," "I feel nervous," and "I fear the worst happening." The reliability of the scale was tested using Omega  $\omega$ , yielding a coefficient of 0.713 and factor loadings ranging from 0.621 to 0.812. For interpretation purposes, a mean score greater than 1.5 showed a moderate to a high level of COVID-19 related anxiety whereas a mean score less than 1.5 depicted a low to no existence of COVID-19 related anxiety. The items measuring anxiety were adapted from the non-clinical symptoms aspect of the anxiety scale by Beck et al. (1988). The fit indices as shown by GFI = 0.92, CFI = 0.90; RMSEA = 0.06; and CMIN = 3.1 indicated a good fit. The factors loadings were also above 0.72. The survey was administered in the English language.

Omega reliability instead of Cronbach alpha was used to estimate the internal consistency of the anxiety scale. This choice was because the Omega reliability estimation procedure overcomes the numerous limitations of Cronbach alpha. Cronbach alpha is based on the tau-equivalence assumption which is difficult or never met. Omega, however, rely on congeneric assumption. Also, alpha provides a lower bound to the reliability which can be misleading. While alpha estimates are based on variance estimates of items, omega uses item loadings (Sijtsma, 2009; Dunn et al., 2014; DeVellis, 2017; Hayes and Coutts, 2020). Based on these limitations, among others, omega reliability is recommended. It is instructive to indicate that Omega was also used for other measures (such as the coping inventory) used in this study which were Likert scale in nature.

#### **Predictor Variable**

The predictor variable for this research was knowledge about COVID-19. Six questions were posed to the participants regarding the symptoms, transmission of the disease, treatment, and management of COVID-19. Examples of items are: "What are the main ways in which people are currently getting infected with the new coronavirus?," and "Do health measures such as early case detection and isolation, contact tracing and isolation, and social distancing help reduce the spread of COVID-19?" For all the items, options were provided for responses to be selected by the participants and the total score was interpreted out of a score of 6. Kuder-Richardson 21 estimation procedure was used to estimate the reliability of the item responses. A reliability estimate of 0.73 was obtained. Kuder-Richardson 21 was used because the items on COVID-19 knowledge were scored dichotomously as '1' or '0' for right or wrong, respectively (Nitko, 2001; Allen and Yen, 2002; Crocker and Algina, 2008).

#### **Moderating Variables**

The study used two moderating variables: coping strategies and school climate. The coping strategy in this study is conceptualized as the reactions of participants when they found themselves in a stressful situation induced by the COVID-19 pandemic. The coping strategy instrument was a 16-item multidimensional scale with four sub-scales: Active coping, Religious coping, Behavioral disengagement, and Emotional support. The sub-dimensions had four items each and the responses were measured using a scale of 1 to 4, with 1 being "not adopted," 2 being "somewhat or moderately adopted," 3 representing "much adopted" and 4 being "very much adopted." The Omega  $\omega$  reliability estimate vielded the following coefficients: active coping-0.705 (loadings ranging from 0.546 to 0.748); religious coping-0.778 (loadings from 0.661 to 0.841); behavioral disengagement-0.703 (loadings from 0.561 to 0.776); and emotional support-0.701 (loadings from 0.50 to 0.714). The coping scale was adopted from Quansah et al. (in press). The fit indices and factor loadings of the coping scale as validated in this study are acceptable.

School climate was the second moderating variable for the study. School climate was conceptualized as the extent to which students are safe from contracting the COVID-19 virus. Five items were posed to the participants which include: "Do you feel confident participating in practical lessons during the COVID-19 outbreak?," "Are the necessary protective equipment available for practical lessons amidst the outbreak of COVID-19?," and "Are you comfortable participating in teaching and learning activities amidst this COVID-19 outbreak?" All the items were measured using dichotomous response, "Yes or No." All "yes" responses were given a numerical weight of 1 and all the "no" responses were assigned a value of 0. The total score is summed out of 5. At least a score of 4 is interpreted as a positive school climate (i.e., a score of 4-5); whereas, the school climate is considered as negative with scores ranging from 0 to 3. Therefore, a positive school climate is highly safe in terms of contracting COVID-19. The Kuder-Richardson 21 reliability estimate yielded a coefficient of 0.718. The scale for school climate was scored dichotomously, therefore, Kuder-Richardson 21 was used (Nitko, 2001; Allen and Yen, 2002; Crocker and Algina,

2008; Quansah, 2017). The fit indices are shown by GFI = 0.94, CFI = 0.91; RMSEA = 0.08; and CMIN = 2.5. In addition, all the factor loadings were above 0.70.

# **Data Collection Procedure**

The study obtained ethical clearance from the Institutional Review Board (IRB) of the University of Cape Coast, Ghana with reference number: UCCIRB/EXT/2020/25. After the IRB approval, permission was sought from the Head of Departments, HPERS and HPER. The data were gathered from the lecture halls of the university after making arrangements with the lecturers. The data administration was done by the researchers. Prior to the administration, the researchers established a good rapport with the participants during which the participants were given a detailed briefing regarding the purpose of the work and the need to participate in this research. Participants were informed that only the researchers would have access to their responses. Further, participants were assured that their responses would be kept confidential and that to ensure anonymity, their names would not be needed on the survey instrument. Participants were also informed that their participation was strictly voluntary and that at any point in time, they could decide to either withdraw or discontinue with the survey without any consequences. Written consent was obtained from each participant. Responding to the instrument took about 20 minutes. The entire data collection lasted for 1 month. Throughout the data collection period, both the researchers and participants were protected, as all the COVID-19 safety protocols were adhered to. Both researchers and participants wore nose/face masks, frequent hand washing, and sanitizing were done, including the observation of social distancing.

# **Data Analysis Strategy**

The data were screened for outliers and missing cases with none found using SPSS software version 25. Descriptive analysis was conducted to understand the nature of variables of the study and inspect the relationship existing between the variables. Hence, correlation analysis, means and standard deviations of the variables were computed. Simple linear regression, with 5,000 bootstrap samples, was also performed to investigate the relationship between COVID-19 knowledge and anxiety experienced. A simple moderation analysis was conducted to examine the moderating effect of school climate in the relationship between COVID-19 knowledge and anxiety experienced. Model 1 of PROCESS macro for SPSS by Hayes was used for the simple moderation analysis. A four-way moderated moderation analysis, with 10,000 bootstrap samples, was performed to investigate the moderating role of coping strategies in the relationship between COVID-19 knowledge and anxiety. Apart from the 4 parallel moderators, 10 other interaction moderators were identified by default and their effects were tested. The 10 other interaction moderators have to do with the pairwise, three-way, and/or four-way interactions between COVID-19 knowledge and/or between the coping strategies. Regarding the interpretation of the moderating effect, the bootstrap confidence intervals were used. Model 3 of Hayes PROCESS macro was used for the moderated moderation analysis (Hayes, 2018).

#### RESULTS

#### **Descriptive Statistics**

The descriptive statistics of the variables are presented in **Table 1**, including the correlations between the variables, their means and standard deviations.

As presented in **Table 1**, anxiety was found to be positively related to knowledge on COVID-19 (r = 0.110) and three dimensions of coping mechanism (i.e., active coping-0.168; behavioral disengagement-0.137; and emotional support-0.201). Religious coping was not related to COVID-19 related anxiety, however school climate had a negative relationship with COVID-19 related anxiety (r = -0.139). The four dimensions of coping strategies were significantly related to one another, with correlation coefficients ranging between 0.147 and 0.409. Except for school climate and behavioral disengagement, knowledge on COVID-19 was positively related to active coping (r = 0.317), religious coping (r = 0.243), and emotional support (r = 0.223).

Further, COVID-19 related anxiety was moderate among the students (M = 1.576, SD = 0.623). Knowledge of COVID-19 was also found to be quite high with a mean of 4.345 (out of six items) and a standard deviation of 1.219. School climate during COVID-19 was somewhat not positive (M = 2.421, SD = 1.495). Active coping (M = 2.650, SD = 0.746), religious coping (M = 2.789, SD = 0.852), and emotional support (M = 2.50, SD = 0.697) strategies were moderately adopted by the students during the COVID-19 pandemic.

#### The Influence of COVID-19 Related Knowledge on Anxiety

The details of the results are shown in Table 2.

TABLE 1	Correlations among	variables, means	, and standard deviations.

Variables	AXT	KNG	SHC	ACP	RCP	BDC	ESS
Anxiety (AXT)	1						
Knowledge (KNG)	0.110**	1					
School climate (SHC)	-0.139**	0.043	1				
Active coping (ACP)	0.168**	0.317**	-0.047	1			
Religious coping (RCP)	0.018	0.243**	-0.075*	0.386**	1		
Behavior disengagement (BDC)	0.137**	-0.049	0.089*	0.147**	0.198**	1	
Emotional support (ESS)	0.201**	0.223**	-0.009	0.409**	0.330**	0.309**	1
Mean	1.576	4.345	2.421	2.650	2.789	1.828	2.50
SD	0.623	1.219	1.495	0.746	0.852	0.731	0.697

\*Correlation is significant at the 0.05 level (2-tailed).

\*\*Correlation is significant at the 0.01 level (2-tailed).

The overall model, with COVID-19 knowledge as a predictor and COVID-19 related anxiety as a criterion, is significant, F(1,758) = 9.266, p = 0.002. It was found that about 1.2% of the variations in COVID-19 related anxiety is explained by knowledge of COVID-19. The results further indicate that knowledge significantly and positively predicted COVID-19 related anxiety, B = 0.056, t = 3.044, *CI* (0.020, 0.092).

#### Moderating Role of School Climate in the Link Between COVID-19 Related Knowledge and Anxiety

The study also had the objective of establishing the role of COVID-19 knowledge and COVID-19 related anxiety response. The details of the results are presented in **Tables 3**, **4**.

The results found that knowledge, school climate, and the interaction of knowledge and school climate explain about 4.7% variability in COVID-19 related anxiety. For the moderation analysis, school climate was categorized as positive and negative, where negative school climate during COVID-19 significantly contributed 1.52% variations to COVID-19 anxiety, F(1,756) = 12.039, p = 0.001. Overall, school climate significantly and negatively moderated the relationship between COVID-19 knowledge and anxiety, B = -0.138, SE = 0.040, *Boot CI* (-0.216, -0.060).

The significant moderating effect was probed to understand the nature of the moderation (see **Table 4**).

The probing results, as shown in **Table 4**, indicated that the presence of positive school climate distorts and significantly changes the direction of the relationship between students'

М	odel	Sum of squares	df	Mean square	F	Sig.	R <sup>2</sup>	SE
1	Regression	3.558	1	3.558	9.266	0.002	0.012	0.620
	Residual	291.016	758	0.384				
	Total	294.574	759					
		В	SE	Beta	t	Sig.	LLCI	ULCI
1	(Constant)	1.332	0.083		16.002	0.000	1.169	1.496
	Knowledge	0.056	0.018	0.110	3.044	0.002	0.020	0.092

Outcome variable: COVID-19 related anxiety.

Predictors: (constant), knowledge on COVID-19.

**TABLE 3** | Interaction of school climate between COVID-19 knowledge and anxiety response.

В	SE	t	LLCI	ULCI
-0.021	0.318	-0.065	-0.645	0.604
0.292	0.070	4.161	0.155	0.430
0.792	0.180	4.397	0.438	1.145
-0.138	0.040	-3.470	-0.216	-0.060
	-0.021 0.292 0.792	-0.021 0.318   0.292 0.070   0.792 0.180	-0.021 0.318 -0.065   0.292 0.070 4.161   0.792 0.180 4.397	-0.021 0.318 -0.065 -0.645   0.292 0.070 4.161 0.155   0.792 0.180 4.397 0.438

Model summary:  $R^2 = 0.047$ , F(3,756) = 12.341, p < 0.001;  $R^2$  change [KNG\*SHC]:  $R^2 = 0.0152$ , F(1,756) = 12.039, p = 0.001; outcome variable: anxiety.

TABLEA	Drobing th	e moderating	offoot of	school alima	oto
IADLE 4	FIODING L	ie moueraung	ellect of	SCHOOL CIILLIS	ale.

Conditional effect								Data list sample	е
SHC	Effect	SE	t	p	LLCI	ULCI	SHC	KNG	Anxiety
Positive	-0.154	0.034	-4.614	0.000	-0.229	-0.015	Positive	5	1.23
Negative	0.016	0.022	0.747	0.455	-0.026	0.059	Negative	5	1.64

COVID-19 knowledge and their anxiety responses, B = -0.154, SE = 0.034, BootCI (-0.229, -0.015). Negative school climate, however, did not show any evidence of change in the relationship between students' COVID-19 knowledge and their anxiety response, B = 0.016, SE = 0.022, BootCI (-0.026, 0.059). Notably, its relationship was not statistically significant.

#### Moderate Coping Strategies in the Link Between COVID-19 Knowledge and Anxiety

The last objective sought to examine the moderating role of coping strategies in the relationship between COVID-19 knowledge and anxiety.

As presented in **Table 5**, the results showed that coping strategies generally moderated the relationship between students' COVID-19 knowledge and their level of anxiety. This moderating role of coping strategies was dynamic and complex depending on the dimensions of the moderator. For example, results on the parallel moderating roles of the coping strategy dimensions revealed that active coping, B = -0.056, SE = 0.024, *BootCI* (-0.106, -0.011) and emotional support, B = -0.079, SE = 0.028, *BootCI* (-0.134, -0.025) had a significant negative moderating effect on the relationship between students' COVID-19 knowledge and their level of anxiety. This indicated that high levels of active coping and emotional support coping strategies are required to weaken the positive relationship between COVID-19 knowledge and anxiety of students.

Although behavioral disengagement was found to be a significant moderator, B = 0.113, SE = 0.028, BootCI (0.078, 0.187), it had a positive moderating effect on the relationship existing between the two variables. This suggests that the adoption of the behavioral disengagement coping strategy instead strengthened the positive relationship between COVID-19 knowledge and anxiety. With the exception of three moderators (i.e., Religious coping, KNG\*ACP\*ESS, and KNG\*RCP\*BDC) which were non-significant moderators, the rest of the moderators showed a significant positive moderation effect on the relationship existing between COVID-19 related knowledge and anxiety.

#### DISCUSSION

This study examined the roles of school climate and coping strategies in the relationship between COVID-19 knowledge and anxiety among Physical Education students from two public universities in Ghana. The findings showed a positive and significant link between COVID-19 knowledge and anxiety, suggesting that a high level of knowledge in COVID-19 is associated with increased levels of anxiety. This finding is contrary to the most common literature-based and logical relationship between COVID-19 related knowledge and anxiety; that persons who are knowledgeable on issues of COVID-19 are expected to demonstrate a low level of anxiety toward issues of COVID-19 (Germani et al., 2020b; Lin et al., 2020; Li and Lyu, 2021; Šrol et al., 2021). This counterintuitive finding appeared surprising since adequate knowledge in COVID-19 rather led to heightened levels of anxiety and that students reported being more anxious as they got to know more about COVID-19. The COVID-19 pandemic brought about unparalleled fear, apprehension and nervousness such that getting more knowledge on the seriousness of the virus elicited anxiety-related experiences (Gong et al., 2020). Additionally, the Centers for Disease Control and Prevention [CDC] (2020) reported that regardless of people's level of awareness, the COVID-19 pandemic has caused fear and anxiety among people since its outbreak.

Due to the unfolding events after the virus outbreak, students may subsequently feel vulnerable or susceptible within the school and classroom environments. For Physical Education students, their practical sessions usually expose them to intermittent contact or interaction with other colleagues. This instructional set, to some extent, may create a perceived unsafe learning climate on the possibility of contracting the virus for more knowledgeable students. Comparatively, those who were less knowledgeable on the perceived susceptibility and severity of the virus were less anxious. Hence, once students are knowledgeable about COVID-19, they become aware of the consequences of contracting the virus. The awareness of the virulence and case fatalities may generate feelings of anxiety among students. Everyone become suspicious of others, and this scenario might lead to fear, and subsequently increased levels of anxiety and other psychological tensions (Dong and Bouey, 2020; Shigemura et al., 2020; Wolf et al., 2020). Alternatively, the positive relationship between COVID-19 knowledge and anxiety can be heightened when this knowledge is exaggerated. In the observations of Rajkumar (2020), COVID-19 may trigger anxiety, particularly when the information is either exaggerated or inaccurate. Other studies have obtained findings that reflect this claim (see Centers for Disease Control and Prevention [CDC], 2020; Du et al., 2020; Fardin, 2020; Lee and You, 2020; Li et al., 2020c; Sorokowski et al., 2020; Wang et al., 2020; Zhai and Du, 2020). It is important to mention that knowledge is necessary for COVID-19. Scholars like Krawczyk et al. (2013) and Yıldırım et al. (2020) found that having adequate knowledge during an epidemic or diseaserelated literacy of people in any population plays a central role in the adoption of preventive behaviors. Whereas knowledge is very crucial in helping people protect themselves, there is the need for practitioners to understand the context, procedure, and platforms

TABLE 5 | Moderated moderation of coping strategies in the relationship between COVID-19 knowledge and anxiety.

Model		В	SE	t	LLCI	ULCI	R <sup>2</sup> [F-value, sig.]	<i>R</i> <sup>2</sup> change [ <i>F</i> -value, sig.]
1	Constant	0.532	0.260	2.046	0.022	1.042	0.039	0.007
	Knowledge (KNG)	0.170	0.060	2.810	0.051	0.289	[10.303, 0.000]	[5.775, 0.016]
	Active coping (ACP)	0.375	0.109	3.437	0.161	0.590		
	KNG*ACP	-0.058	0.024	-2.403	-0.106	-0.011		
2	Constant	1.488	0.235	6.320	1.026	1.950	0.013	0.001
	Knowledge	0.023	0.055	0.412	-0.086	0.131	[3.251, 0.021]	[0.446, 0.504]
	Religious coping (RCP)	-0.065	0.091	-0.710	-0.244	0.115		
	KNG*RCP	0.014	0.021	0.668	-0.027	0.054		
3	Constant	2.138	0.241	8.871	1.665	2.611	0.060	0.020
	Knowledge (KNG)	-0.179	0.053	-3.356	-0.283	-0.074	[16.215, 0.000]	[22.651, 0.000]
	Behavioral disengagement (BDC)	-0.455	0.125	-3.647	-0.701	-0.210		
	KNG*BDC	0.133	0.028	4.759	0.078	0.187		
4	Constant	0.240	0.288	0.831	-0.326	0.805	0.055	0.010
	Knowledge (KNG)	0.214	0.065	3.279	0.086	0.342	[14.702, 0.000]	[8.183, 0.004]
	Emotional support (ESS)	0.513	0.126	4.086	0.267	0.760		
	KNG*ESS	-0.079	0.028	-2.861	-0.134	-0.025		
5	Constant	-0.812	0.606	-1.340	-2.002	0.378	0.063	0.012
	Knowledge (KNG)	0.525	0.147	3.567	0.236	0.814	[7.283, 0.000]	[9.596, 0.002]
	Active coping (ACP)	1.344	0.288	4.674	0.780	1.909		
	KNG*ACP	-0.283	0.066	-4.304	-0.412	-0.154		
	Religious coping (RCP)	0.415	0.266	1.558	-0.108	0.938		
	KNG*RCP	-0.114	0.061	-1.863	-0.234	0.006		
	ACP*RCP	-0.319	0.109	-2.931	-0.533	-0.105		
	KNG*ACP*RCP	0.075	0.024	3.098	0.027	0.122		
6	Constant	-2.676	0.781	-3.426	-4.210	-1.143	0.123	0.035
	Knowledge (KNG)	0.821	0.183	4.492	0.462	1.180	[15.026, 0.000]	[30.207, 0.000]
	Active coping (ACP)	1.938	0.290	6.678	1.369	2.508		
	KNG*ACP	-0.396	0.066	-6.037	-0.525	-0.267		
	Behavioral disengagement (BDC)	1.783	0.412	4.324	0.973	2.592		
	KNG*BDC	-0.356	0.096	-3.698	-0.545	-0.167		
	ACP*BDC	-0.868	0.149	-5.820	-1.160	-0.575		
	KNG*ACP*BDC	0.186	0.034	5.496	0.120	0.252		
7	Constant	0.624	0.798	0.782	-0.942	2.191	0.060	0.000
	Knowledge (KNG)	0.123	0.193	0.640	-0.255	0.501	[6.880, 0.000]	[0.254, 0.614]
	Active coping (ACP)	-0.070	0.373	-0.187	-0.801	0.662		
	KNG*ACP	0.022	0.085	0.261	-0.145	0.189		
	Emotional support (ESS)	0.201	0.376	0.536	-0.537	0.939		
	KNG*ESS	-0.023	0.086	-0.265	-0.192	0.147		
	ACP*ESS	0.091	0.152	0.596	-0.208	0.389		
	KNG*ACP*ESS	-0.01	0.034	-0.504	-0.085	0.050		
8	Constant	3.252	0.766	4.248	1.749	4.756	0.068	0.002
-	Knowledge (KNG)	-0.344	0.178	-1.939	-0.693	0.004	[7.768, 0.000]	[1.373, 0.242]
	Religious coping (RCP)	-0.431	0.272	-1.585	-0.965 0.103			
	KNG*RCP	0.067	0.061	1.090	-0.053	0.186		
	Behavioral disengagement (BDC)	-1.089	0.432	-2.519	-1.938	-0.240		
	KNG*BDC	0.235	0.432	2.319	0.037	0.433		
	RCP*BDC	0.234	0.144	1.625	-0.049	0.516		
	KNG*RCP*BDC	-0.038	0.033	-1.172	-0.049 -0.103	0.026		
9	Constant	-0.038 -1.049	0.688	-1.172	-0.103 -2.399	0.026	0.083	0.011
0							[9.671, 0.000]	[9.072, 0.003]
	Knowledge (KNG)	0.645	0.163	3.958	0.325	0.965	[0.0.1, 0.000]	[0.07.2, 0.000]
	Religious coping (RCP)	0.381	0.286	1.331	-0.181	0.942		

(Continued)

#### TABLE 5 | (Continued)

Model		В	SE	t	LLCI	ULCI	R <sup>2</sup> [F-value, sig.]	R <sup>2</sup> change [F-value, sig.]
	Emotional support (ESS)	1.459	0.341	4.275	0.789	2.129		
	KNG*ESS	-0.338	0.078	-4.357	-0.491	-0.186		
	RCP*ESS	-0.310	0.128	-2.419	-0.562	-0.058		
	KNG*RCP*ESS	0.086	0.029	3.012	0.030	0.143		
10	Constant	-2.572	0.962	-2.674	-4.460	-0.684	0.130	0.023
	Knowledge (KNG)	0.878	0.211	4.168	0.464	1.291	[16.029, 0.000]	[19.722, 0.000]
	Behavioral disengagement (BDC)	1.510	0.551	2.739	0.428	2.593		
	KNG*BDC	-0.355	0.121	-2.923	-0.593	-0.116		
	Emotional support (ESS)	2.123	0.382	5.565	1.374	2.872		
	KNG*ESS	-0.464	0.083	-5.593	-0.627	-0.301		
	BDC*ESS	-0.849	0.208	-4.087	-1.257	-0.441		
	KNG*BDC*ESS	0.203	0.046	4.441	0.113	0.293		
11	Constant	1.301	0.213	6.099	0.882	1.720	0.065	0.011
	Knowledge (KNG)	-0.024	0.031	-0.796	-0.084	0.036	[8.681, 0.000]	[8.931, 0.003]
	Active coping (ACP)	0.127	0.046	2.743	0.036	0.218		
	Religious coping (RCP)	-0.062	0.041	-1.508	-0.142	0.019		
	Behavioral disengagement (BDC)	0.110	0.066	1.682	-0.018	0.239		
	ACP*RCP*BDC	-0.026	0.012	-2.174	-0.049	-0.002		
	KNG*ACP*RCP*BDC	0.006	0.002	2.988	0.002	0.010		
12	Constant	1.171	0.230	5.093	0.720	1.623	0.070	0.011
	Knowledge (KNG)	-0.045	0.032	-1.422	-0.108	0.017	[9.396, 0.000]	[9.070, 0.003]
	Active coping	0.068	0.048	1.408	-0.027	0.163		
	Behavioral disengagement (BDC)	0.063	0.067	0.950	-0.067	0.194		
	Emotional support (ESS)	0.111	0.049	2.268	0.015	0.207		
	ACP*BDC*ESS	-0.030	0.013	-2.294	-0.056	-0.004		
	KNG*ACP*BDC*ESS	0.007	0.002	3.012	0.003	0.012		
13	Constant	1.668	0.223	7.477	1.230	2.106	0.077	0.010
	Knowledge (KNG)	-0.016	0.030	-0.527	-0.076	0.044	[10.457, 0.000]	[8.420, 0.004]
	Religious coping (RCP)	-0.125	0.040	-3.097	-0.204	-0.046		
	Behavioral disengagement (BDC)	-0.047	0.065	-0.730	-0.174	0.080		
	Emotional support (ESS)_	0.072	0.049	1.459	-0.025	0.169		
	RCP*BDC*ESS	-0.010	0.011	-0.874	-0.032	0.012		
	KNG* RCP*BDC*ESS	0.006	0.002	2.902	0.002	0.010		
14	Constant	1.287	0.196	6.579	0.903	1.671	0.081	0.011
	Knowledge (KNG)	-0.017	0.027	-0.632	-0.071	0.036	[9.493, 0.000]	[8.956, 0.003]
	Active coping (ACP)	0.074	0.039	1.890	-0.003	0.151		
	Religious coping (RCP)	-0.095	0.033	-2.912	-0.159	-0.031		
	Behavioral disengagement (BDC)	0.046	0.048	0.961	-0.048	0.140		
	Emotional support (ESS)	0.112	0.041	2.727	0.031	0.192		
	ACP*RCP*BDC*ESS	-0.007	0.003	-2.154	-0.013	-0.001		
	KNG*ACP*RCP*BDC*ESS	0.002	0.001	2.993	0.001	0.003		

with which education or information about COVID-19 should be provided to persons.

This finding, however, contradicts a previous study which found that knowledge on COVID-19 was not associated with anxiety (Lin et al., 2020). The variations noted in the current study and that of Lin et al. (2020) could be attributed to the use of the general population as against university students. The variability in the general population may have confounded the findings of this study. The practical implication of this finding is that further increasing COVID-19 awareness or campaign programs could raise peoples' intentions to adopt preventive behaviors against diseases as a result of their heightened anxiety levels.

The findings of the study also showed that school climate moderates the link between COVID-19 knowledge and anxiety. Among the students that reported a positive school climate, the effect of knowledge on anxiety was negative, however, this effect was positive for students that reported a positive school climate. The results generally imply that with the same level of COVID-19 knowledge advancement, students that reported positive school climate experienced decreased anxiety, whereas those with the negative school climate experienced an increased level of anxiety. It can therefore be said that the conduciveness of conditions in schools during this COVID-19 era, to a large extent, has a great impact on the management of COVID-19 related anxieties (Germani et al., 2020b; Li and Lyu, 2021; Šrol et al., 2021). Thus, a positive school climate buffers the positive effect of knowledge on anxiety (Lin et al., 2020). The implication is that the relationship between COVID-19 knowledge and anxiety is contingent on school climate. Therefore, the provision of a protective school environment and ensuring the safety of the school environment are necessary steps to reduce COVID-19 related anxieties. When the school environment is safe, even when students have advanced knowledge on COVID-19, they are more likely to feel some sense of inner security and this would lead to low anxiety. This finding emphasizes the need for the provision of a safe and supportive school environment which should largely be provided by educators, parents and the school institution itself (UNESCO, 2020; Laar et al., 2021).

It was further identified that three of the four dimensions of coping, namely active, emotional support, and behavior disengagement coping were significant moderators of the relationship between COVID-19 knowledge and anxiety. While active and emotional support decreased the effect of COVID-19 knowledge on anxiety, behavior disengagement rather increased the effect. The nature of the moderations is such that, with a high level of COVID-19 knowledge, the high adoption of active and emotional coping strategies reduced the level of anxiety among students. This finding has been confirmed by previous research (Iddi et al., 2021; Lin et al., 2020) by indicating that when students highly adopt active coping mechanisms such as taking direct actions to get around problems, making conscious efforts in doing something, and approaching issues step-by-step, among others, would act as buffers in reducing the anxiety related to COVID-19. Similarly, when students employ emotional support coping strategies such as discussing feelings with others, getting sympathy and emotional support from significant others (e.g., teachers, parents or family relations), they are more likely to deal with their fears and nervousness. These approaches may lead to a reduction in their level of anxiety, as supported by recent studies (Jungmann and Witthöft, 2020; Labrague, 2021). However, on the part of behavior disengagement coping, its introduction in the relationship rather increased anxiety as expected. Hence, disengagement coping is dysfunctional and counterproductive because it involves quitting, giving up, and not putting in much effort in an attempt to solve a problem.

Religious coping did not significantly moderate the relationship between COVID-19 knowledge and anxiety. This implies that putting one's trust in God and seeking help from an object of worship did not necessarily matter as far as the relationship between COVID-19 knowledge and anxiety is concerned. This finding could be as a result of the religious bodies' active engagement in the propagation of COVID-19 related advocacies such as wearing of nose masks, washing of hands at regular intervals, practicing social distancing, using sanitizers, among others within the Ghanaian context. Generally, these practices appear to be more of active coping than religious

coping. Another possible reason for this finding could be due to the sample drawn for this study. The study used Physical Education students who as of the time of data collection had not contracted COVID-19 (not clinically diagnosed), possibly with the belief that taking measures to prevent the contraction of the disease is key.

Interestingly, when religious coping was paired with other coping strategies such as active coping, emotional support, and behavior disengagement in six different instances, the moderation was significant for five out of the six. This identification suggests that religious coping on its own does not alter the relationship between COVID-19 knowledge and anxiety unless it is paired with other coping mechanisms. When paired with other coping strategies, they jointly have a positive impact on anxiety. Thus, they increase levels of anxiety, with an increasing level of knowledge. Even though active coping solely had a negative impact on anxiety, when paired with other forms of coping strategies, it had a positive impact on anxiety, suggesting that the ideal negative effect of active coping was subdued by other coping strategies. This finding suggests that to reduce the anxiety levels during COVID-19 among students, active coping should be predominantly employed. Summarily, the current study adds to the existing literature in that school climate and coping strategies were identified as confounding variables that could affect the link between COVID-19 knowledge and anxiety. This information provides more clarity on the findings compared to previous studies, especially those that only examined the uni-directional relationship.

# **Limitations and Future Directions**

Despite the strengths of using a relatively large sample size and generating interesting findings from quantitative analysis of empirically verifiable data, this study is not devoid of some limitations. The most prominent limitation is that the data were collected via a single or snapshot assessment as opposed to momentary assessment through alternative methods of data collection like the experience sampling method (ESM) or the ecological momentary assessment (ECA) to generate an idiographic profile that mirrors the dynamic nature of COVID-19. Future studies could adopt longitudinal designs where study participants may be required to record their reported anxiety experiences and associated coping options in a diary process format. The cross-sectional nature of the study makes it impossible to draw causal inferences among identified patterns and other social desirability concerns such as selection biases. The study did not have participants who have either been infected with the virus at the time of data collection or had recovered from COVID-19. Therefore, the findings of this research may not apply to such populations. The findings of this study can be applied to other program areas, such as Music or Theatre Arts, and Vocational Technical Education, which has practical lessons as part of the program. This notwithstanding, generalizing the findings from the study to other populations should therefore be done with caution. Future studies should also cover the general student population in higher education using similar variables. Through detailed exploration, some variables such as gender, COVID-19 test status (i.e., positive or negative), source of information on COVID-19, among others, can help explain the relationship between COVID-19 knowledge and anxiety among students.

#### CONCLUSION

This research showed a counterintuitive relationship between students' COVID-19 knowledge and the associated anxiety response. This highlights the notion that educating persons about COVID-19 related matters does not alone help with reducing anxiety response, especially for students. Present findings provide evidence that further increasing COVID-19 awareness or campaign programs could raise peoples' intentions to adopt preventive behaviors, should not be the primary motive for educators, higher educational institutions, administrators, parents, media, and governments. Instead, a positive school climate (i.e., a protective school environment, free from potential threats with lower chances of getting infected with COVID-19) should be created by stakeholders. Students should be given the necessary interventions or platforms to learn and demonstrate appropriate coping strategies. Educational institutions should create a conducive environment safe for teaching and learning, especially for practical oriented programs like PE during the ongoing pandemic. Particularly, seminars and orientation programs should be developed by school counselors, school healthcare workers, and institution administrators to help students adopt functional active coping strategies, including emotional support.

## DATA AVAILABILITY STATEMENT

The raw data supporting the conclusions of this article will be made available by the authors, without undue reservation.

## REFERENCES

- Allen, M. J., and Yen, W. M. (2002). *Introduction to Measurement Theory*. Illinois: Waveland Press.
- Alsukah, A. I, Algadheeb, N. A., Almeqren, M. A., Alharbi, F. S., Alanazi, R. A., Alshehri, A. A., et al. (2020). Individuals' self-reactions toward COVID-19 pandemic in relation to the awareness of the disease, and psychological hardiness in Saudi Arabia. *Front. Psychol.* 11:588293. doi: 10.3389/fpsyg.2020. 588293
- Beck, A. T., Epstein, N., and Steer, R. A. (1988). An inventory for measuring clinical anxiety: psychometric properties. J. Consult. Clin. Psychol. 58, 893–897. doi: 10.1037/0022-006x.56.6.893
- Brug, J., Aro, A. R., Oenema, A., de Zwart, O., Richardus, J. H., and Bishop, G. D. (2004). SARS risk perception, knowledge, precautions, and information sources, the Netherlands. *Emerg. Infect. Dis.* 10, 1486–1489. doi: 10.3201/ eid1008.040283
- Cao, W., Fang, Z., Hou, G., Han, M., Xu, X., Dong, J., et al. (2020). The psychological impact of the COVID-19 epidemic on college students in China. *Psychiatry Res.* 287:112934. doi: 10.1016/j.psychres.2020.112934
- Centers for Disease Control and Prevention [CDC] (2020). Healthcare Personnel and First Responders: How to Cope with Stress and Build Resilience During the COVID-19 Pandemic. Available online at: https://www.cdc.gov/coronavirus/ 2019-ncov/hcp/mental-health-healthcare.html (accessed October 14, 2021).
- Chaliès, S., Bertone, S., Flavier, E., and Durand, M. (2008). Effects of collaborative mentoring on the articulation of training and classroom situations: a case study

#### **ETHICS STATEMENT**

The studies involving human participants were reviewed and approved by the Institutional Review Board of the University of Cape Coast, Ghana, with a reference number: UCCIRB/EXT/2020/25. The participants provided their written informed consent to participate in this study.

## **AUTHOR CONTRIBUTIONS**

JH conceived the idea. FQ performed the analysis. FQ, JH, FA, JF, MS-S, FS, and TS prepared the initial draft of the manuscript. All authors thoroughly revised and approved the final version of the manuscript.

## FUNDING

The authors sincerely thank Bielefeld University, Germany for providing financial support through the "Special Funding Line, Corona 2021" for the data collection and the Institutional Open Access Publication Fund for the article processing charge.

#### SUPPLEMENTARY MATERIAL

The Supplementary Material for this article can be found online at: https://www.frontiersin.org/articles/10.3389/fpsyg. 2022.820288/full#supplementary-material

in the French school system. Teach. Teach. Educ. 24, 550-563. doi: 10.1016/j. tate.2007.09.010

- Chen, P., Mao, L., Nassis, G. P., Harmer, P., Ainsworth, B., and Li, F. (2020). Coronavirus disease (COVID-19): the need to maintain regular physical activity while taking precautions. *J. Sport Health Sci.* 9, 103–104. doi: 10.1016/j.jshs. 2020.02.001
- Chow, S. K., Francis, B., Ng, Y. H., Naim, N., Beh, H. C., Ariffin, M. A. A., et al. (2021). Religious coping, depression and anxiety among healthcare workers during the COVID-19 pandemic: a malaysian perspective. *Healthcare* 9:79. doi: 10.3390/healthcare901 0079
- Clay, J. M., and Parker, M. O. (2020). Alcohol use and misuse during the COVID19 pandemic: a potential public health crisis? *Lancet Public Health* 5:e259. doi: 10.1016/S2468-2667(20)30088-8
- Capone, V., Caso, D., Donizzetti, A. R., and Procentese, F. (2020). University student mental well-being during COVID-19 outbreak: what are the relationships between information seeking, perceived risk and personal resources related to the academic context? *Sustainability* 12:7039. doi: 10.3390/ su12177039
- Crocker, L., and Algina, J. (2008). *Introduction to Classical and Modern Test Theory*. New York, NY: Cengage Learning.
- DeVellis, R. F. (2017). Scale Development: Theory and Applications, 4th Edn. London: Sage.
- Dong, L., and Bouey, J. (2020). Public mental health crisis during COVID-19 pandemic, China. Emerg. Infect. Dis. 26:1616.

- Du, J., Mayer, G., Hummel, S., Oetjen, N., Gronewold, N., Zafar, A., et al. (2020). Mental health burden in different professions during the final stage of the COVID-19 lockdown in China: cross-sectional survey study. J. Med. Internet Res. 22:e24240. doi: 10.2196/24240
- Dunn, T. J., Baguley, T., and Brunsden, V. (2014). From alpha to omega: a practical solution to the pervasive problem of internal consistency estimation. *Br. J. Psychol.* 105, 399–412. doi: 10.1111/bjop.12046
- Fardin, M. A. (2020). COVID-19 and anxiety: a review of psychological impacts of infectious disease outbreaks. Arch. Clin. Infect. Dis. 15:e102779. doi: 10.5812/ archcid.102779
- Flynn, L. R., and Goldsmith, R. E. (1999). A short, reliable measure of subjective knowledge. J. Bus. Res. 46, 57–66. doi: 10.1016/S0148-2963(98)00057-5
- Germani, A., Buratta, L., Delvecchio, E., and Mazzeschi, C. (2020a). Emerging adults and COVID-19: the role of individualism-collectivism on perceived risks and psychological maladjustment. *Int. J. Environ. Res. Public Health* 17:3497. doi: 10.3390/ijerph17103497
- Germani, A., Buratta, L., Delvecchio, E., Gizzi, G., and Mazzeschi, C. (2020b). Anxiety severity, perceived risk of COVID-19 and individual functioning in emerging adults facing the pandemic. *Front. Psychol.* 11:567505. doi: 10.3389/ fpsyg.2020.567505
- Gong, K., Xu, Z., Cai, Z., Chen, Y., and Wang, Z. (2020). Internet hospitals help prevent and control the epidemic of COVID-19 in China: multicenter user profiling study. J. Med. Internet Res. 22:e18908. doi: 10.2196/18908
- Hayes, A. F. (2018). Introduction to Mediation, Moderation, and Conditional Process Analysis: A Regression-Based Approach, 2nd Edn. New York, NY: The Guildford Press.
- Hayes, A. F., and Coutts, J. J. (2020). Use omega rather than Cronbach's alpha for estimating reliability. *Commun. Methods Meas.* 14, 1–24. doi: 10.1080/ 19312458.2020.1718629
- Huang, Y., and Zhao, N. (2020). Generalized anxiety disorder, depressive symptoms and sleep quality during COVID-19 epidemic in China: a web-based cross-sectional survey. *Psychiatry Res.* 288:112954. doi: 10.1016/j.psychres.2020. 112954
- Hume, A., and Berry, A. (2013). Enhancing the practicum experience for preservice chemistry teachers through collaborative CoRe design with mentor teachers. *Res. Sci. Educ.* 43, 21–36. doi: 10.1007/s11165-012-9346-6
- Iddi, S., Obiri-Yeboah, D., Aboh, I. K., Quansah, R., Owusu, S. A., Enyan, N. I. E., et al. (2021). Coping strategies adapted by Ghanaians during the COVID-19 crisis and lockdown: a population-based study. *PLoS One* 16:e0253800. doi: 10.1371/journal.pone.0253800
- Isidori, E. (2020). Sports Pedagogy at the Time of COVID-19. *Cult. Ciencia Deporte* 15, 145–146. doi: 10.12800/ccd.v15i44.1480
- Jeong, H., Yim, H. W., Song, Y. J., Ki, M., Min, J. A., Cho, J., et al. (2016). Mental health status of people isolated due to Middle East Respiratory Syndrome. *Epidemiol. Health* 38:e2016048. doi: 10.4178/epih.e20 16048
- Jungmann, S. M., and Witthöft, M. (2020). Health anxiety, cyberchondria, and coping in the current COVID-19 pandemic: which factors are related to coronavirus anxiety? *J. Anxiety Disord.* 73:102239. doi: 10.1016/j.janxdis.2020. 102239
- Krawczyk, A., Stephenson, E., Perez, S., Lau, E., and Rosberger, Z. (2013). Deconstructing human papillomavirus (HPV) knowledge: objective and perceived knowledge in males' intentions to receive the HPV vaccine. Am. J. Health Educ. 44, 26–31. doi: 10.1080/19325037.2012.749714
- Laar, R. A., Ashraf, M. A., Ning, J., Ji, P., Fang, P., Yu, T., et al. (2021). Performance, health, and psychological challenges faced by students of physical education in online learning during COVID-19 epidemic: a qualitative Study in China. *Healthcare* 9:1030. doi: 10.3390/healthcare9081030
- Labrague, L. J. (2021). Psychological resilience, coping behaviours and social support among health care workers during the COVID-19 pandemic: a systematic review of quantitative studies. J. Nurs. Manag. 29, 1893–1905. doi: 10.1111/jonm.13336
- Lander, N., Eather, N., Morgan, P. J., Salmon, J., and Barnett, L. M. (2017). Characteristics of teacher training in school-based physical education interventions to improve fundamental movement skills and/or physical activity: a systematic review. *Sports Med.* 47, 135–161. doi: 10.1007/s40279-016-0561-6

- Lee, M., and You, M. (2020). Psychological and behavioural responses in South Korea during the early stages of coronavirus disease 2019 (COVID-19). Intern. J. Environ. Res. Public Health 17:2977. doi: 10.3390/ijerph1709 2977
- Lei, L., Huang, X., Zhang, S., Yang, J., Yang, L., and Xu, M. (2020). Comparison of prevalence and associated factors of anxiety and depression among people affected by versus people unaffected by quarantine during the COVID-19 epidemic in southwestern China. *Med. Sci. Monit.* 26:e0924609. doi: 10.12659/ MSM.924609
- Li, J. B., Yang, A., Dou, K., and Cheung, R. Y. (2020a). Self-control moderates the association between perceived severity of the coronavirus disease 2019 (COVID-19) and mental health problems among the Chinese public. *Int. J. Environ. Res. Public Health* 17:4820. doi: 10.3390/ijerph1713 4820
- Li, J. B., Yang, A., Dou, K., Wang, L. X., Zhang, M. C., and Lin, X. (2020b). Chinese public's knowledge, perceived severity, and perceived controllability of the COVID-19 and their associations with emotional and behavioural reactions, social participation, and precautionary behaviour: a national survey. *BMC Public Health* 20:1589. doi: 10.1186/s12889-020-09695-1
- Wang, C., Pan, R., Wan, X., Tan, Y., Xu, L., Ho, C. S., et al. (2020). Immediate psychological responses and associated factors during the initial stage of the 2019 coronavirus disease (COVID-19) epidemic among the general population in China. *Int. J. Env. Res. Public Health* 17:51729. doi: 10.3390/ijerph1705 1729
- Li, S., Wang, Y., Xue, J., Zhao, N., and Zhu, T. (2020c). The impact of COVID-19 epidemic declaration on psychological consequences: a study on active weibo users. *Int. J. Environ. Res. Public Health* 17:2032. doi: 10.3390/ijerph17062032
- Li, X., and Lyu, H. (2021). Epidemic risk perception, perceived stress, and mental health during COVID-19 pandemic: a moderated mediating model. *Front. Psychol.* 11:563741. doi: 10.3389/fpsyg.2020.563741
- Li, X., Tang, X., Wu, H., Sun, P., Wang, M., and Li, L. (2021). COVID-19-related stressors and chinese adolescents' adjustment: the moderating role of coping and online learning satisfaction. *Front. Psychiatry* 12:633523. doi: 10.3389/fpsyt. 2021.633523
- Lin, Y., Hu, Z., Alias, H., and Wong, L. P. (2020). Knowledge, attitudes, impact, and anxiety regarding COVID-19 infection among the public in China. *Front. Public Health* 8:236. doi: 10.3389/fpubh.2020.00236
- Luthar, S. S., Crossman, E. J., and Small, P. J. (2015). "Resilience and adversity," in Handbook of Child Psychology and Developmental Science, eds R. M. Lerner and M. E. Lamb (New York, NY: Wiley), 247–286.
- Lyons, M. D., Huebner, E. S., and Hills, K. J. (2016). Relations among personality characteristics, environmental events, coping behaviour and adolescents' life satisfaction. *J. Happiness Stud.* 17, 1–18. doi: 10.1007/s10902-015-9630-z
- Main, A., Zhou, Q., Ma, Y., Luecken, L. J., and Liu, X. (2011). Relations of SARS-related stressors and coping to Chinese college students' psychological adjustment during the 2003 Beijing SARS epidemic. J. Counsel. Psychol. 58, 410–423. doi: 10.1037/a0023632
- Mancini, J., Lavecchia, C., and Clegg, R. (1983). Graduate nursing students and stress. J. Nurs. Educ. 22, 329–334.
- Mandapat, A. M., and Farin, E. N. (2021). School climate and work from home challenges of teachers during the Covid 19 pandemic in secondary schools in the Division of Zambales, Philippines. J. Educ. Soc. Behav. Sci. 34, 103–111. doi: 10.9734/JESBS/2021/v34i230309
- Medina, S. X. B., and Bohórquez, Y. S. (2020). Modern and postmodern views of education that shape EFL mentoring in the teaching practicum. *Colombian Appl. Linguist. J.* 22, 55–68. doi: 10.14483/22487085.14576
- Nash, R. (ed.) (2010). The Active Mentor: Practical Strategies for Supporting New Teachers. Thousand Oaks, CA: Corwin press.
- Nitko, J. A. (2001). Educational Assessment Of Students. Hoboken, NJ: Prentice Hall.
- Ornell, F., Schuch, J. B., Sordi, A. O., and Kessler, F. H. P. (2020). "Pandemic fear" and COVID-19: mental health burden and strategies. *Braz. J. Psychiatry* 42, 232–235. doi: 10.1590/1516-4446-2020-0008
- Owen, M. S., Kavanagh, P. S., and Dollard, M. F. (2018). An integrated model of work-study conflict and work-study facilitation. J. Career Dev. 45, 504–517. doi: 10.1177/0894845317720071

- Park, C. W., Gardner, M. P., and Thukral, V. K. (1988). Self-perceived knowledge: some effects on information processing for a choice task. Am. J. Psychol. 101, 401–424. doi: 10.2307/1423087
- Peters, A., and McEwen, B. S. (2015). Stress habituation, body shape and cardiovascular mortality. *Neurosci. Biobehav. Rev.* 56, 139–150. doi: 10.1016/ j.neubiorev.2015.07.001
- Peters, A., McEwen, B. S., and Friston, K. (2017). Uncertainty and stress: why it causes diseases and how it is mastered by the brain. *Prog. Neurobiol.* 156, 164–188. doi: 10.1016/j.pneurobio.2017.05.004
- Pfeiffer, D. (2001). Academic and Environmental Stress among Undergraduate and Graduate College Students: A Literature Review. Master's Thesis. Menomonie, WI: University of Wisconsin-Stout Menomonee.
- Quansah, F. (2017). The use of Cronbach alpha reliability estimate in research among students in public universities in Ghana. *Afr. J. Teach. Educ.* 6, 56–64. doi: 10.21083/ajote.v6i1.3970
- Quansah, F., Ankomah, F., Hagan, J. E. Jr., Srem-Sai, M., Frimpong, J. B., Sambah, F., et al. (in press). Development and validation of an inventory for stressful situations in University Students involving copingmechnaism: an interesting cultural-mix in Ghana. *Psych*.
- Quansah, F., Hagan, J. E. Jr., Sambah, F., Frimpong, B. J., Ankomah, F., Srem-Sai, M., et al. (2022). Perceived safety of learning environment and associated anxiety factors during COVID-19 in Ghana: evidence from physical education practical-oriented program. *Eur. J. Investig. Health Psychol. Educ.* 12, 28–41. doi: 10.3390/ejihpe12010003
- Rajkumar, R. P. (2020). COVID-19 and mental health: a review of the existing literature. Asian J. Psychiatry 52:102066. doi: 10.1016/j.ajp.2020.102066
- Sadique, M. Z., Edmunds, W. J., Smith, R. D., Meerding, W. J., de Zwart, O., Brug, J., et al. (2007). Precautionary behaviour in response to perceived threat of pandemic influenza. *Emerg. Infect. Dis.* 13, 1307–1313. doi: 10.3201/eid1309. 070372
- Shigemura, J., Ursano, R. J., Morganstein, J. C., Kurosawa, M., and Benedek, D. M. (2020). Public responses to the novel 2019 coronavirus (2019nCoV) in Japan: mental health consequences and target populations. *Psychiatry Clin. Neurosci.* 74, 281–282. doi: 10.1111/pcn.12988
- Sijtsma, K. (2009). On the use, the misuse, and the very limited usefulness of Cronbach's alpha. *Psychometrika* 74, 107–120. doi: 10.1007/s11336-008-9101-0
- Sorokowski, P., Groyecka, A., Kowal, M., and Sorokowska, A. (2020). Information about pandemic increases negative attitudes toward foreign groups: a case of COVID-19 outbreak. *Sustainability* 12, 1–17. doi: 10.3390/su12124912
- Šrol, J., Mikušková, E. B., and Čavojová, V. (2021). When we are worried, what are we thinking? Anxiety, lack of control, and conspiracy beliefs amidst the COVID-19 pandemic. Appl. Cogn. Psychol. 35, 720–729. doi: 10.1002/acp.3798
- Torales, J., O'Higgins, M., Castaldelli-Maia, J. M., and Ventriglio, A. (2020). The outbreak of COVID-19 coronavirus and its impact on global mental health. *Int. J. Soc. Psychiatry* 66, 317–320. doi: 10.1177/0020764020915212
- UNESCO (2020). UNESCO Covid-19 Education Response Education Sector Issue Notes. Paris: UNESCO.

- Verelst, F., Willem, L., and Beutels, P. (2016). Behavioural change models for infectious disease transmission: a systematic review (2010–2015). J. R. Soc. Interface 13:20160820. doi: 10.1098/rsif.2016.0820
- Wang, J., Chen, Y., Guo, X., Lin, H., Richards, M., Wang, H., et al. (2021). Impact of COVID-19 related knowledge and precautions on emotional and behavioural problems among children during the post-pandemic in china: the explanatory value of emotional problems among caregivers. *Front. Psychol.* 12:712529. doi: 10.3389/fpsyg.2021.712529
- Wolf, M. S., Serper, M., Opsasnick, L., O'Conor, R. M., Curtis, L. M., Benavente, J. Y., et al. (2020). Awareness, attitudes, and actions related to COVID-19 among adults with chronic conditions at the onset of the US outbreak: a cross-sectional survey. Ann. Intern. Med. 173, 100–109. doi: 10.7326/M20-1239
- Yıldırım, M., Arslan, G., and Alkahtani, A. M. (2021). Do fear of COVID-19 and religious coping predict depression, anxiety, and stress among the Arab population during health crisis? *Death Stud.* [Epub ahead of print]. doi: 10.1080/ 07481187.2021.1882617
- Yıldırım, M., Arslan, G., and Özaslan, A. (2020). Perceived risk and mental health problems among healthcare professionals during COVID-19 pandemic: exploring the mediating effects of resilience and coronavirus fear. *Int. J. Ment. Health Addict*. 1–11. doi: 10.1007/s11469-020-00424-8
- Yildirim, M., and Güler, A. (2020). COVID-19 severity, self-efficacy, knowledge, preventive behaviours, and mental health in Turkey. *Death Stud.* 2020, 1–8. doi: 10.1080/07481187.2020.1793434
- Zarrouq, B., Abbas, N., Hilaly, J. E., Asri, A. E., Abbouyi, S., Omari, M., et al. (2021). An investigation of the association between religious coping, fatigue, anxiety and depressive symptoms during the COVID-19 pandemic in Morocco: a webbased cross-sectional survey. *BMC Psychiatry* 21:264. doi: 10.1186/s12888-021-03271-6
- Zhai, Y., and Du, X. (2020). Addressing collegiate mental health amid COVID-19 pandemic. *Psychiatry Res.* 288:113003. doi: 10.1016/j.psychres.2020.113003

**Conflict of Interest:** The authors declare that the research was conducted in the absence of any commercial or financial relationships that could be construed as a potential conflict of interest.

**Publisher's Note:** All claims expressed in this article are solely those of the authors and do not necessarily represent those of their affiliated organizations, or those of the publisher, the editors and the reviewers. Any product that may be evaluated in this article, or claim that may be made by its manufacturer, is not guaranteed or endorsed by the publisher.

Copyright © 2022 Quansah, Hagan, Ankomah, Srem-Sai, Frimpong, Sambah and Schack. This is an open-access article distributed under the terms of the Creative Commons Attribution License (CC BY). The use, distribution or reproduction in other forums is permitted, provided the original author(s) and the copyright owner(s) are credited and that the original publication in this journal is cited, in accordance with accepted academic practice. No use, distribution or reproduction is permitted which does not comply with these terms.